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AN UASAHD
M DHAE AEHH 2
el DI AHIA B S (el @2)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
OFUsSE MEESEE It 53,3002 +13H 693
Oelz & EXIOENHE &l HEESEEIH
2 164,600 »14H 2,305
OSEUIAER WEBESEE It
164,560 »5H 823
OFUEEST L2 *8=2(S71)
2,920& %2, 00004 5,840
202 4l 3,500 3,500 0
01 = LH YI 3,500 3,500 0
Ogl& Al 3,500
IIESZHESAR(EX) 44,417 46,863 A2,446
= 44,417
101 @14 Hl 31,090 32,730 A 1,640
= 31,090
04 JIZHHZ2XNEE S 31,090 32,730 A 1,640
ONFZAHSEAMNR BEX 22 31,090
= 31,090
201 L2l 4,444 4,813 A 369
- 4,444
01 At 22l 4,444 4,813 A 369
ONZBASSAL I 4,444
= 4,444
202 04l 8,883 9,320 AN437
= 8,883
01 = LH Yl 8,883 9,320 A437
OINEZHEEAR 8,883
= 8,883
(R 15,600 15,600 0
= 15,600
201 LB-2dH| 6,798 11,600 A 4,802
= 6,798
01 At 2t 2l 6,798 11,600 N 4,802
O0Aze] PRFHU(EH L MREE S) 4,498
= 4,498
O= &l 7,000 +2H «140 1,960
= 1,960
O 2 A =2 3l 170,000 »2H 340
= 340
202 oddl 3,000 4,000 A 1,000
= 3,000
01 = LH o4 1l 3,000 4,000 A 1,000
Odze d2Fa 20,0003 «2H 752 3,000
= 3,000
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AN UASAHD
MM DMAS AAHF D
ol DIRAHIA #E SO CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 RHoHE S HI 5,802 0 5,802
= 5,802
01 AL EZF S 5,802 0 5,802
O=AI 7¢ 5,500
= 5,500
Ol =< 302
= 302
IIESZHESAR(XA) 3,300 3,300 0
201 ¢et24] 3,300 3,300 0
02 =224l 3,300 3,300 0
OMEEH LS RRNE=>+ 275,000& 1245 S 3,300
HaAHBE FoEHA &2 859,903 1,208,571 A 348,668
=2 3,237
& 70,000
J| 195,000
< 491
e 591,175
Hdets fs4ate F2M3 40,658 41,658 21,000
HESAIRIE =A 2E 40,658 41,658 A 1,000
201 L4l 34,158 34,158 0
01 At 22l 33,673 33,673 0
OMNESAIXIN HA 70l 600
— SAMHAEXR 80,000 x5 A 1/2 200
—MEEA 80,0002 x58 A x1/2 200
—S&XZAM L ZEXAN 80,000 *58EA%1/2 200
OMNESAIXI 88 =2 M
40,000 *130H 43| x1/2 1,040
On=x=ZeH Ed 450,000& 64 *1/2 1,350
OMESAKXIN 282 7
24,000 x252 23] *1/2 600
OMNESARXI EHEH HUES 2E 1,350
— HP 800Z X 40,000% *40E+1/2 800
— HP 8002 3 55,000 *200 = 1/2 550
OXJt &8 23,447
—&HF RO JIE)
60,000E XI /67%37,800& *1/2 16,926
— & FXIHT7. 121 F)
2,0002! XI*37,800& *50%*30%*1/2 5,670
—oA Y 0 EA HEx+2
300! XI*37,800°& x50%*30%*1/2 851
OSAXNIIEH L TAHAE2E BI2IH F¢
8,000% 1202 *1/2 480
OFsttEIIRAZE dolts M
24,000 *25F 23] *1/2 600
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AN UASAHD
Ha: JARBE FUBY €2
& FEE fsi2e] FEMS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot E BEx=+2 900,000& »2A 1,800
ORsdaHeidln MA 803 *1,00001 x10& 800
OXZel"d EYH(Zet) 198,000 *5MI E 990
OZeH EHdOolA 308,000 *2AI E 616
02 =224l 485 485 0
OZAXIYAHME & Ol Melz2l s:2
2703 *500& 135
ORSdaNcd D FEHIEEXN 282 NME
St E Y& (SD1) 1,750& 200 350
202 O4dl 6,500 7,500 A 1,000
01 = LH 4 Hi 6,500 7,500 A1,000
OEX 2el 2,500
OZAXIL E4 X XA 4,000
FoE ANHAEH 29 28,656 51,356 A22,700
ANEZRFel dASAY 11,500 33,100 A 21,600
202 (4l 2,000 2,000 0
01 = LH 4 4 2,000 2,000 0
OXI & 2,000
207 Ol 9,500 31,100 A 21,600
02 & AR I 9,500 31,100 A 21,600
OXNFEZSZUSE OI0I2AZEESAIY
5,000& *1,9000H 9,500
NEESR dHel 2el 17,156 18,256 A 1,100
201 €82l 13,156 13,256 A 100
01 At 22l 11,656 11,456 200
OXNH2R U AASEE SH242
218,900& 202 X 4,378
ONSIIZEY WAz ¢ 24
116,600 »40& 4,664
OXN&EZ2F2eE EH 7Y 269, 000& 6K 1,614
OXNAEZSEZe dEAN R 100,000& x10& 1,000
02 =24l 1,500 1,800 A 300
OosJsse ¢85 282 7 300& *5,0000HK 1,500
202 O4dl 4,000 5,000 A1,000
01 = LH 4 HI 4,000 5,000 21,000
OFstdAIFE ANzFH & SIEE =220
=l 4,000
NEEHE S 2= 71,164 96,120 A 24,956
= 3,237
= 491
i 67,436
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AN UASAHD
Ha: JARBE FUBY €2
ool NNFELH 7E CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EXNSEEEANLE 2Z 11,260 27,058 A 15,798
201 24l 5,260 20,058 A 14,798
01 At 2t 2l 3,900 3,900 0
OEXNEEAAY HHHOINE & S22 1,000
OXNEFE 2 HA K0l 240,000 53 1,200
OXNHEE P88 JdMEX 7L 500
OXNHEEHEE ARIII |X
300, 000& »2CH 23] 1,200
02 22224l 1,360 16,158 A 14,798
O3 HNEH SHAAH FRAE= 1,360
202 Odl 6,000 7,000 A 1,000
01 = LH 4 Hi 6,000 7,000 A 1,000
OXNEZE 2,000
OEXNZEE X XA 4,000
E2YEFAAY 51,230 63,662 A 12,432
201 Let24d] 30,568 44,800 A 14,232
01 At 2teltl 30,568 40,600 A 10,032
OE=2& F=2AE ARIIII 7 X
300,000 »1CH »23] 600
OZ=gsE U OGE ME £
10, 000& *500H 5,000
OEZ2E =AY EE= MA 5,000
OZ22g=A 02 SE8H(ENE)MA
25601 Ot = 78,000 19,968
401 Al HI L 2 Tl 13,000 13,000 0
01 A& HI 13,000 13,000 0
OZL2HE MR 48X ¥ SXNES
130,000& = 1004 13,000
403 MHXSHHSA=0l& 7,662 5,862 1,800
02 S| 2 S0il CH &HCH & A Bl 7,662 5,862 1,800
O =4 HIBSAY 29XA 7,662
C2HFAAGE(EX) 8,674 5,400 3,274
= 3,237
= 491
e 4,946
201 Let24E] 8,674 5,400 3,274
= 3,237
< 491
s 4,946
01 At 22l 8,674 5,400 3,274
O =AY EE2= HMH 5,400
= 1,600
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AN UASAHD
Ha: JARBE FUBY €2
ool ADAMS HEBY T4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 195,000
402 RIZEX201 ™ 390,000 360,000 30,000
J| 195,000
s 195,000
02 2I2HCH e At S HI 390,000 360,000 30,000
OAMEAET DHFIIALS 3,000,000& =130 390,000
J| 195,000
s 195,000
NASEHE dUHES=S RO0IA NEAEY 28,800 33,600 24,800
501 EXt= 28,800 33,600 A 4,800
01 22t t= 28,800 33,600 A 4,800
OMASHE UHESS NI ALY
9,600,000& 3= 28,800
HY I HH (YA SAD) 93,477 89,079 4,398
el 2l 33,419 27,818 5,601
HESAXIL HatoleA2d 33,419 27,818 5,601
101 @124 dl 33,419 27,818 5,601
03 RIAHAZZ2TE = 33,419 27,818 5,601
OXIJbZAL & AT Q) 33,419
—Jl=s 1,181, 100& »2H 1201 2 «80% 22,678
—Jlg=¢ 500,550 x2H x43] *80% 3,204
- &2+ 500, 550%2H »23| *80% 1,602
— ZE SO 600,660 x2H x23] *80% 1,923
— AZ2FI=S 8, 47732 +17 Al 2F %128 »80% 2,767
—Qx=g 38,880% «2&H 20 «80% 1,245
JlEZl 60,058 61,261 21,203
QIASAIL JI2&HI 60,058 61,261 A 1,203
201 L4l 24,300 27,000 A2,700
01 At 22l 24,300 27,000 A2,700
OsAol &F 19,440
O= &l SH0lat 4,860
202 O4dl 28,558 30,061 A 1,503
01 = LH 4 Hi 28,558 30,061 A 1,503
Oz Aol & 28,558
203 YR =&l 7,200 4,200 3,000
03 AIBFAH S =AY 3,000 0 3,000
OLJSALL A=A 2 =AY 3,000
04 FENSEHR=LH 4,200 4,200 0
OCASAIY A2 350,000& =122 4,200
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